the same. Insertion of either in the formula

Y 2r
G- T%T : (12.34)

will produce the equivalent normalized admittance of the iris (see Section 6.5).

12.5 THE INDUCTIVE IRIS: STATIONARY SOLUTION

Let us return to the mtegral equation (12.28), which contains the unknown iris .
current distribution K. (x ). With the m = 1 term pulled out of the summation, we
have

X 1 wX [w . wx
— Am sin = " Bea sin — fo K,(x") sin ' dx’'

Bioa

+ 3, ST gy sin ™
m=2 JYmo@ /0 _

If (12'.26) is utilized in (12.35) for the case m = 1, we obtain

Zx dx' =0  (12.35)

7 E sin{mmx/a)

Ap + B sm—-=
(Ajo 10) a2 jyma

|7 Ky(x) sin TELdx (1236)

Since A9 = B1o/T’, manipulation of (12.36) yields

1+T . wX 2wl/a)
sin =

2Bi0 =55 sin == = S ¥iGy &

TX [w U 7 A
n > J; K,(x") sin - dx
. . / (12.37)
=7 > ________sm(.mw-x 4) f: K,(x') sin

a =2 JYmoQ

mmrx'
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where Y/G, is t'he equivalent admittance of the iris.
When both sides of (12.37) are multiplied by K 5 (x) followed by integration
over [0,w], one obtains

| Ky sintrx'tay dx' [ K30 sinGmxta) dx

= =2 -
> (Bio/ymo) fow K,(x') sin(mmx'/a) dx' J’: K} (x) sin(mmx/a) dx
m=2

' . (12.38)

In like fashion, proceeding from the integral equation (12.33), which con-
tains the unknown aperture field & y(x"), we find that -

¥ 2 Ym0/ B10) f &y(x") sin(mmx'la) dx' f &5 (x) sin(mmx/a) dx
— = _2 m=2

Go

fw &,(x') sin(mx'/a) dx’ fw &5(x) sin(wx/a) dx
' (12.39)
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